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1 | bwuwgh hwgnuwm /unp b ogwn./ 56 4597 9030
2 | Snqudwpnm hwugnuw /unp b oqun./ 48 1747 7080
3 | Uwujuluu hwugniuwm /unp/ 22 824 3608
4 | Uuuluyuwu b dbdwhwuwljh muynhp 58 2365 6350
5 | Unphy /unp/ 1 175 600
6 | YLhpdwl, owdlng, wulnnuuwyhtt wwpwquubp /unp b ogwn./ 25 795 2854
7 | Muwynuwly, gphuwjuwu yupwuquutn /unp/ 28 1383 2392
8 | lunhwungujhtt uwpwgquwutp /unp b oqun./ 5 1628 970
9 | mqupwuh pnneE 1 600 500
10 | Yunh dbptuw, fup m abh wuwpwuwquwubtp /unp b ogw./ 13 303 990
11 | Uwhtwluwy, wpennubp, dtwwnpwu /ogun./ 13 389 1035
12 | Snpohputip b htidwuhy /unp / 18 458 3460
13 | Adjujut ypwguubp /unp/ 5 120 660
14 | lownuhputip /unp / 72 1438 4600
15 | Biljumpuuu vwyjuy, wujuuwyuy, puyjul, dimuwthwjm 29 3690 3370
16 | Uwujujuu uugjuly, tndwpnn, wpnn 7 388 5380
17 | Udwunpjw quprupwupubtip, mnuwdwn 3 147 850
18 | Snpq 143 720
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